2016/8/29 =I5 ith X EREE 3
BHFEESE F3REHERTZEEHFANKTRRE
O%& #l FR2848H20H~28H Of 15 HEFEHAEIFEG. SHRREKG. FREH LR, RERSEHLE. £ 8 D FE25FEkS

SASAMORIE |#Z EL-BHEZHE
R D3R 1| R ER 4%

CHEFTERIFIC, FEDRBEEHIZLYTLLor
HEHAMME (/K PEFRI) ZEBAT, F2EKXE
BERITTVWHETY, MAE)—F—SvTZRiEL
T, BEICEWN: F—LDF I TTUIRESNE



2016/8/29 It X EEFE Q)

HHZENSE SIEFHERPFERARAGFRAR AR | Bu mB ®e | #HE | AR | B REHEe #AE
5 1B & % @ 9:00 @ 9:00 (13)
(14) _ 10:45 | B |3 1045 | B 15
7 2 X =
220 (1) 2w w4 1230 | 5 | (5 12:30 | g |(16)
(22) " 14:15 8/21 | 14:15 (17)
3(2) 4 £ £ R
2 @ - 9:00 ) (B) 9:00 0
7/ 5 W X =) =
(15) o 1045 | # | (5 10:45 | B (18
P 6 = B = % . 2
2 ;& 8 B 12:30 | & | EHRS 1230 | o |(19
(26) - 8/20 | 14:15 A5 14:15 20
8 8 b =
P Gid @) 0o % 5 (£) | 1230 | &7 9:00 (14)
(16) A 1415 | 2 | ® 1045 | £ 23
2 / 102 I B X =]
(5) i 1230 | X | @ 12:30 | o |22
22 11 7 iL 1t
23) 1415 | A |(10) 8/27 | 14115
12 K £
3 4 6) . 1230 | A& 1) (£) | 900 @1)
13 13 A I 1t
(17) 1415 | g |12 1045 | B |20
d ZE a 12:30 (25)
- B
— 29 14:15
3 16 1B
9:00 (26)
(18) = s 4§
2 ; 5 TE M @ 8/28 | 1045 | |27
0 18 10 # & L # (B) | 1230 | o |tk&#
0 70|T 19 B 13:15 (28)
4 3 ) ST 20K I B GE1) EEHE - DEEmaAK&MEE QML XRif— &S /\RK

(F2) AREDARRR2HBAZEERKE (12/34) DHIGEERD

!

4
21 |=
7 22 K

23 5
(11)
s B
X
H
H

% A—IVE SELIKT SAE GRESEL)

27) T G¥3) HEXE&AEFIE. EERESHIFEERELT. 8/27 hoDHIZBELEL:
fit] HEEH HEET7EET S BLERHIRSHY
0 ; i HERME RISRI00DBTHEER TIEL0. FHIIBH ENZRKRHBEZEET S
62) 3 _HI 25 E ERE 2TORETILEL
5 25) 26 m ¥ R HIEE 1REE.ITERRCTHURDRT HFET
27
22) o 28 £ EFE- K- B BAR FHtr a—BE GEEIZTEE)

@1

2 29 - BERFIR 1871200 GBI L) &%, HIRBISIRRERICHELLZLA, BRTEDRFE
[=}

ORZBICKRITTWVERF QFDBR1ELRITTLAENRF




2016/8/29
<HEBR>
O 1EIEK
1 [ F—L [ 1] 2[3[4a]586]7 5t
= B\ d 0201 2 .1 6
X =10/ 1]0][3;0 5
17V
3] F—L [ 1] 2]3[4[5]6]7 &
I e A 0] 00, 0] 4|0 5
£ B & o0o|]1]0]0]0][]0]2 3
5 F—4 [ 1 [ 23] 4567 B
= B H X 0| 3]0 4] 1 8
Ui ILoj 0[O0 0] 1 1
7] F—L 1] 2][3]4]5]6]7 Bt
= KW E 0/ 0]0]2]0]0]0 2
N WM o/o/o[1]0]6]X 7
9 | F—L [ 1| 23] 4]5]6]7 i
& I ® O] 0, 0] 0 03 3
£ Bl2]0[2[1]0]5 10
] F—L [ 1] 23] 4]5]6]7 3
= M 0] 0 0] 0] 0 0
=] H| 1 1 0 5| X 7
3] F—L [ 1 [ 23] 4]5]6]7 3
H F 0/, 0] 0] 01 0] 0 1
#Em-ARB-BH 1 [ 0] 0 0] 2 1]X 4
O2[EE;
14 F—4L [ 1| 23 4567 &
= B Jd 0] 0] 0|01 0] 0 1
B ¥ % o/o0/1[o0o/0]|4[X 5
6] F—4& [ 1| 23] 4567 &
= B B X 0, 0|0 0|01 0 1
PN H o]o[2/0]/0]/0]X 2
18] F—4 | 1 | 2] 3| 4]5]6]7 5
Mo -5 % 0| 1 0 0j]0|J0]O0 1
= 2/ 0/0/1]o0o]0]|X 3
20 F—L [ 1 [ 23] 4]5]6]7 &
B m % kK 0] 0] 0] 0] 1 2 10 3
A ® o/o[o/O0]0][O0]O 0

2 | F—L4 2 [ 3] 4]5[6]7]8 &t
H# £ & 0| 1 0| 1 1 0 4
X X = 2/ 0/]0]0]0]X 5

4 | F—L 2 3[4]5[6,7]38 it

#® o/o/o[o0] 2,1 6
X 17 o[l2[2]o0][o0, 2 7
4474

6 | F—L 2 [ 3] 4]5[6,7]38 &t
7 E o/o]Jo]2][0,;0 3
A I3 o[1[2]0]o0, 1 4

4474

8 | F—L 2 [ 3] 4]5[6]7]8 &t
- I 1 0] 01 00 2
T B 7 ofofoJofo]oO 0
10| F—A4A 2 [ 3] 4]5[6]7]8 &t
= [} 1 4 |1 0 9
X T of1]o]oO 1
12 F—AL 2 [ 3] 4]5]6]7]8 &t
7N 1€ 1 0,0 0]0]O 1
H m ¥ B 5101 00 | X 7
15 | F—ALA 2 3] 4]5[6]7]38 &t
HE X E 001 0,00 2
B B K 0o[3[o][1]0]X 4
17 ] F—4 2 | 34|56 7]8 &t
ZS i) 001 2 101 5
A [ ofofofJof[3]o0 3
19 F—ALA 2 [ 3] 4]5[6]7]8 it
= [} 0| 2 1 0,00 4
E3 B ofo[3]ofo0o]oO 3
21 | F—4L 2 [ 3] 4|56 78 L1
RS N ojlo[o[o]o0]oO 0
x = ofofoflo]o0]X 0

= R EFE HQ



23| F—ALA 2 | 3[4 ]|5 6 [7]8]09]|F
X i 0| 1 1 0,01 13
N 1R 0] 0,0]0]O0] O 2
25 | F—AL 2 | 3[4 ]|5 671809 F
B m % B 0,0 0|00 1]4 6
* = 0Jo0oj]0]2|0]010O0 2
17°V-7
27| F—ALA 2 | 3[4 5] 6] 7]8]09]G&t
BH [ % Kk 0] 0] 2|]0] 2] 1 5
= ] 0] 0] 0]0]O0]O 0

2016/8/29

OERREE

22| F—ALA 23] 4|56 7] 8 &t

A & % B 112110 2 7

- 0Oj]O0]1]0]O0 1

24 | F—LA 23] 4|56 7] 8 &t

= ) 1,0/ 0|0 3|0 4
1B 0] 0ojo0ojJ0]2]O0 2

QERE

26 | F—ALA 23] 4|56l 738 &t

B 9 tlol1]o0o]olo 2

B & % B 2/ 0/o0/o0o]o!q 3

547°V-9

OR B

28 | F—AL 23] 4]5][6]7]8 &

B [ % [k 0] 0] 0] O 1

A E 2 H 3,/ 0[]0 5 8

= R EFE HQ



